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Maximum Marks : 60

INSTRUCTIONS TO THE CANDIDATES
There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered fo be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the following illustration.

lllustration:

1.Thesumof20and 12is

(@32 (b)38 (c)31 (d)34 '
The Correct answer of item 1 is (a), which should be
miarked in OMR Answer Sheet as under:

110 ® © O

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The OMR Answer Sheet must be handed over to the
Invigilator before the candidate leaves the Examination
Hall.

Keep OMR Answer Sheet straight. Do not fold it.

All questions are compulsory, each question carries one
mark.

Use of calculator/mobile/any electronic item/objection
materialis NOT permitted.

Controller of Examinations

FTET e FX [ 3ref (asig glaer &t fefa @ sidait & &9 w97 &t sifew qrar sww)

Please note that in case of any confusion, the question printed in English may be considered final.
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A.The internal energy of the system
remains constant

B.The internal energy of the system
decreases

C.The internal energy of the system
increases

D. None of the above

Total amount of energy in the universe
A. Increases

B. Decreases

C. Remains constant

D. None of the above

Standard enthalpy change of
combustion occurs when 1 mol of
substance is burnt in high quantity of
which of the following

A. Nitrogen

B. Oxygen

C. Carbon dioxide
D. Helium

Amount of energy required to break a
specific covalent bond is called

A. Bond dissociation energy
B. Bond energy

C. Bond enthalpy

D. All of Above

Absorbed wavelengths in atomic
absorption spectrum appear as

A. Dark background
B. Dark lines
C. Light background
D. Light lines
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10.

Which of the following is the princ
Atomic Absorption Spectroscopy”’

A. Radiation is absorbed by non-
atoms in vapour state and are
to higher states

B. Medium absorbs radiation and
transmitted radiation is measu

C. Colour is measured
D. Colour is simply observed

How can the intensity of radiatior
increased in Hollow cathode lam|

A. Addition of non-conductive prc
shield of mica

B. Addition of nitrogen to neon o
in the lamp

C. Increasing the pressure of the
gas

D. Changing the metal of the anc

Which of the following is not a fu
in flame photometry?

A. Acetylene
B. Propane

C. Hydrogen
D. Camphor oil

Energy passing through unit are
A. Intensity of x-ray

B. Frequency of x-ray

C. Wavelength of x-ray

D. Wavelength

!\.

Gradual decrease in x-ray beam
intensity as it passes through m:
called

A. Attenuation
B. Decay

C. Radioactivity
D. Imaging
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Potential energy and kinetic energy are
types of

A. Electrical enérgy
B. Magnetic energy
C. Thermal energy
D. Mechanical energy

To do work, energy is
A. transferred

B. used

C. lost

D. converted

Formula for gravitational potential
energy is

A. E, = mg/h, where m is mass, g is
gravitational pull and h is height

B. E, = m/gh, where m is mass, g is
gravitational pull and h is height

C. E, = mgh, where m is mass, g is
gravitational pull and h is height

D. E, = gh/m, where m is mass, g is
gravitational pull and h is height

Which is the the non-renewable energy
resource from the following:

A. Coal

B. Fuel cells

C. Wind power
D. Wave power

. Bacteria fix atmospheric nitrogen and

help to produce
A. Nitrates

B. Proteins

C. Amino acids
D. All of Above
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16. Fermentation is carried out by yea
cells in the absence of which of the
following

A. Carbon Dioxide
B. Nitrogen

C. Oxygen

D. Hydrogen

17. A gliding motion, the mechanism ¢
which is not understood, is a
characteristic of

A. Spirilla

B. Streptococci

C. Filamentous bacteria
D. Bacilli

18. In which of the following group, wo
you place a plant which produces
spores, has vascular tissue and lac
seed

A. Algae

B. Pteridophyte
C. Bryophyte

D. Gymnosperm

19. Afern, differs from moss, in having
A. An independent gametophyte
B. An independent sporophyte
C. Presence of archegonia
D. Swimming antherozoids .

20. Spore bearing leaf is called
A. Sorus
B. Indusium
C. Ramentum
D. Sporophyil

-
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22.

23.

24.

25.

Embryo of angiosperm seeds consists
of

A. Radicle
B. Plumule
C. Cotyledons
D. All of above

Angiosperm seeds consist of
A. Seed coat

B. Endoéperm tissue

C. An embryo

D. All of above

Angiosperms and gymnosperms have
been classified as which of the
followings

A. Seed plants
B. Corals
C. Ferns

D. Mosses

Angiosperm seeds use micropyle from
which of the following

A. Water transportation
B. Photosynthesis
C. Water absorption

D. Mineral transportation

Amphioxus belongs to which of the
followings

A. Urochordata

B. Cephalochordata
C. Vertebrata

D. None
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26. Skull is present in which of the follow
A. Urochordata
B. Cephalochordata
C. Vertebrata
D. None

27. To which of the followings do the He
fish belongs to

A. Class Myxini

B. Chondrichthyes
C. Osteichthyes
D. Amphibia

28. Bony fish are
A. Amphibia
B. Osteichthyes
C. Chondrichthyes
D. Myxini

29. Air, water, light, temperature and |
makes up

A. Biotic environment
B. Abiotic environment
C. Ecosystem

D. Food chain

30. Type of aquatic animals that can
in particular water is determined
analyzing which of the followingt

A.PH

B. Temperature
C. Volume

D. Turbidity
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On which of the following, the physical
properties depend

A. Size of atom

B. Size of proton

C. Size of neutron

D. Number of electrons

As we go from left to right across period
in the periodic table, electron affinity

A. Increases

B. Decreases

C. Remains same
D. None of above

Decrease in force of attraction between
valence electrons and nucleus by inner
electrons is called

A. Screening effect

B. Compton effect

C. Photoelectric effect
D. Doppler effect

The most stable conformational isomer
of cis-1-bromo-2-chlorocyclohexane will
have

A. Both halide atoms in axial positions

B. Both halide atoms in equatorial
positions

C. The bromine atom in an axial
position and the chlorine atom in an
equatorial position.

D. The bromine atom in an equatorial
position and the chlorine atom in an
axial position

Homolytic Fission is
A. Symmetrical

B. Unsymmetrical

C. Both

D. None of the above
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36. Time required for 100% completion ¢
zero order reaction is, (‘K’ is specific
rate.constant and ‘a’ is decrease in
concentration at time't’)

A. 2K/a
B. a/2K
C.akK
D. aK

37. What is the IUPAC name for the

following compound?

CH,
CH,-C= C-CH=CH,
A. 4-vinyl-2-pentyne
B. 4-methylhex-2-yn-5-ene
C. 3-methylhex-4-yn-1-ene
D. 3-methylhex-1-en-4-yne

. In free radical reaction mechanism, f
radicals are formed at?

A. Initiation step
B. Propagation step
C. Termination step
D. BothAand B
39. Covalent bonds can be broken by?
A. Homolytic fission
B. Heterolytic fission
C. Homolytic fusion
D. BothAand B !’

40. When was the term ‘Sustainable

Development’ came into existence?
A. 1987
B. 1980
C. 1978
D. 1992
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What are the Primary Goals of

Sustainability?

|. The end of poverty and hunger

I. Better standards of education and
healthcare - particularly as it pertains
to water quality and better sanitation

lll. To achieve gender equality

IV. Sustainable economic growth while
promoting jobs and stronger
economies

AL IT&I
B.LIN&IV
C.1&lll
D.LLILHN&IV

The United Nations Commission on
Sustainable Development (CSD) was
established by the UN General
Assembly in December------- ?

A. 1992
B. 1993
C. 1994
D. 1995

Which of the following is not included in
the parameters of sustainable
development?

A. Carrying capacity

B. Inter and Intra-generation equity

C. Gender disparity and diversity

D. None of the above

Which chemical substance used in
industry for cold cleaning, adhesives
and vapor degreasing is?

A. Methyl chloroform

B. Carbon tetrachloride

C. Halons L
D. Hydrocarbons

Montreal protocol to reduce production
of chlorofluorocarbons was signed
in.......... ?

A 1977
B.1992
C.1987
D. 1982
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46 Third layer of Earth coming after M
- of Earth is known as what?

A. The Outer Core
B. The Inner Core
C. The Mantle
D. The crust
47. Central & Hottest part of Earth is ca
A. Crust |
B. Mantle
C. Inner core
D. Outer core

48. Ridges get formed on which of the

followings, when at boundaries whe
magma rises on surfaces?

A. Ocean beds

B. Land

C. Rocks

D. Settled sand
49. Continental Plates are
A. Thinner than Oceanic Plates
B. Thicker than Oceanic Plates
C. Equal in thickness to Oceanic Pla
D. None of the above

|4

Which of the followings is formed by
Oceanic Plates?

50.

A. Countries
B. Sea beds
C. Continents
D. Islands
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sudden release of stored up energy in

%) 3R PR which porfion of Earth?
Q) I8 PR A. Inner core

) HURI Hed B. Outer core

) el ud C. Upper mantle
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52.

D. Lower crust

Which earthquake is local in nature and
rarely occurring?

- )
@r)) ;qqa'a“ﬂa|_ e A. Volcanic earthquake

'f'_ N B. Shallow earthquake
M) U P _ C. Collapse earthquake
o) FRATdl b
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D. Intermediate earthquake

53. Which event produces the biggest
7 tsunami?
®) P A. Earthquake
@) U @ A e B. Underwater landslides
M) B C. Hurricanes

54.

D. Impacts of asteroids and comets

The largest wave during a tsunami

........................................... 2. event is

%) Ugall A. The first

Q) ARl B. The third

IRIEE]] C. The fifth

) SR, I8 T W 2 9Hdr 2 D. Unpredictable, it could be any of
those
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B D 55. The geologic time scale represents?
: e A. The age of the earth and all
aﬁ)) ‘1@ Sﬁ;’ T R @1 3| creatures on it.
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B. The geologic history of universe

C. The theorized development of life on
earth dating back 4.6 billion years
ago

D. The fossil record as we know it.
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56. A straight glacis type fall with a baffle
platform and a baffle wall is.............. ?

57.

58.

59.

60.

A.
B.

Vertical Drop-fall
Glacis Fall

C. Montague type fall

D.

Inglis fall

The meander pattern of a river is
developed by which of the followings?

A. Average discharge

B.
C.
D.

Dominant discharge
Maximum discharge
Critical Discharge

Main purpose of mean water training for
rivers is

A.
B.

D.

Flood Control

To provide sufficient depth of water
in navigable channels, during low
water periods

. To provide sufficient channel in good

shape by disposal of suspended and
bed load

All of the above

Geochemists also study distribution and
effect of chemicals added to
environment by...... ?

A.
B.
C.
D.

Human activity

Industries and machinery
Plants and aquatic life
Dead decaying organisms

By studying rocks, minerals and soil,
geochemists can determine

A.
B.
C.
D.

Economic value
Scientific value

pH value

Physical properties



